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BIOLOGY SSC-I
SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct opticn i.e. A7/ B/ C /D. Each part carries ohe matrk.

)

(iv)

(vi)

{vil)

(viif)

(ix)

(xi)

(xii)

Similar groups of cells, performing the same functions are called:

A Organelle B. QOrgan C. Tissue D. Organ system
What is TRUE about volvox?

A Unicellular Prokaryote B. Colenial eukaryote

C. Unicellular eukaryote D. Multicellular eukaryote

Which one of the following in not a characteristic of a hypothesis?

A Must be consistent with all the available data
B. Must make predictions

C. Must be testable

D. Must be correct

Viruses are assigned to the kingdom:

A Maonera B. Protista

03 Fungi D. Not inciuded in any kingdom

How many Indus dolphins are left today in fndus River?

A. 6000 B. 600 C. 60 D. 06

The cell wall in plants is composed of:

A Chitin B. Peptidoglycan C. Cholesterol D. Celiulose
Which of the foliowing features of cell division are very different for animal and plant cells?
A Prophase B. Metaphase C. Anaphase D. Cytokinesis
What is true about cofactors?

A. Break Hydrogen bonds in Proteins B. Help facilitate enzyme activity

C. Increase activation energy D. Are composed of proteins

In which component of the leaf cells, chlorophyll is present?

A Stroma B. Plasma membrane

C. Thylakoids D. Cytoplasm

The pancreas produces digestive enzymes and releases them in to the:

A Colon B. Gall Bladder  C. Liver D. Duodenum
Stomata close when the guard cells:

A. Lose water B. Become turgid

C. Gain chloride ions D. Gain potassium ions

Which of the following is NOT a type of leukocyte?

A Lymphocyte B. Maonocyte C. Fosinophil D. Osteocyte
For Examiner’s use oniy: -
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Marks Obtained:

—— 1SA 1710 (L) ——



Roll No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:

- g gl ! (sl
(12 48) Jit» 920 e

e b C e e el S i SN g S WL SR LSS e Bl A LS iy g RN Gi0ie S

e AL 050 W SL e B3 1 Bl 13 G 1L 1)y
Cp L e )
KVJTT - # -G L'/CT - J—"i" -
fe e fe ML S Whaer?Sie Sdits (i)
PLY o ey Ay L TP S ..‘.‘.«,jﬁ(:/?/:&’dg _i
P S L bsle Sty i)
UKGﬁ?J‘/‘ﬁfégﬁfa U’%W‘ - wlheilbe ool -
é.kb}fb“///‘yk)’/u’:iﬂ " ﬂfﬁlgg;/:’:c.f -t
S PUSCUE B st ()

ﬂ;}vu’:f/zg{f ) 3[’%’ -G W‘.‘{ — ‘/:y, L
%ﬁf@@ﬂi’&“{ SePiri st (v)
7 - Fl & I S— Npg

‘e e sy ()

JRT A Fhis o S
te B Sunde ot und kpeie s dils (i)

SR Ay A A
S e WSt A S5 8 (i)

Gl VTl f o FEIPIAL sy
Sl Ly = uf"f,,—)tw‘/.:@/'lu% o =0

‘e te AL L E e (i)
ik o RE g o AEUE o S

fe b Tb AU ‘ffy:a,bﬁijgj% (x)

Ao £ L o
Kibapiobited ()

S sie L te gaded -

ud Ay o VES D R’
e LS eatlspie e (i)

ey o Forugi o iy IO

:/,*"v/U"b 12 /"‘,P’ :w’:-le/.

—— 18A 1710 (L) —



N
N“P/
-

BDaRy
22380 53,
N i
e
Yang1 1

L
SRR

o

S
e ETS
~liampehls

/

Time allowed: 2:40 Hours

5E
BIOLOGY SSC-I

Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2  Attemptany ELEVEN parts. The answer to each part shouid not exceed 3 to 4 lines.

SECTION — B (Marks 33)

(11 x 3 = 33)

Define the following:

a. Palasontology b. Immunology C. Entomology
Write the names and subjects of the books written by Jabir bin Hayan and Bu Ali Sina, in the field of
biology.

Differentiate between qualitative and quantitative observations with the help of examples.

(i
(iv) Wnite down the important observations recorded by A F.A king to sclve the problem of Malaria.
(V) Differentiate between taxonomy and systematics. Write down the main aims of classification.
(vi) Who proposed the five kingdom system of classification? On which features, this system is based?
{vii) Differentiate among the phagocytosis, Pinocytosis and Exocytosis.
{viil) Write down the important features of skeletal muscles, sieve tube cells and companion cells.
(ix) Differentiate among Apoptosis, Necreosis and Apoptotic badies.
(x) Define the following with examples:
a. Macronutrients b. Micronutrients C. Eutrophication
(xi) Write down the ways by which enzyme lower down the energy of activation.
{xii) Write down the important events of Calvin cycle.
{xiii) Describe aerobic respiration briefly with the help of chemical equation.
{xiv) Why Pepsin, a powerful protein-digesting enzyme does not digest the walls of stomach, made of
proteins?
{xv) Describe Biood transfusions in Rh blood group system, briefly.
SECTION - C (Marks 20) '
Note: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
Q.3 a Write a detailed note on the structure and function of cell membrane and nucleus.
Also iabeled diagrams. (4+2)
b. Explain the transport of food in plants by pressure flow mechanism with the help of
labeled diagram. (04)
Q.4 Explain the significance of mitosis in detail. (04,
Write notes on the following:
(h Disorders of gut (i) Blood Vessels {(3+3)
Q.5 a Explain the mechanism of enzyme action by Lock and Key model and its modification.
Define specificity of enzymes. {3+1)
b. Explain the important steps involved in Glycolysis, Kreb's Cycle and light reaction. {2+2+2)
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BIOLOGY SSC-|
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i)

(i)

(i)

Members of the same species living in the same place at the same time make a:

A. Habitat B Biosphere C. Population D. Community

Which of the following groups includes organisms ail of which are absorptive in their mode of feeding?
A Protists B. Fungi C. Animals D. Bacteria

Which one of the following is a correct sequence in biological method?

A, Observations-Hypothesis-Law-Theory

B. Hypothesis-Observations -Deduction-Experimentation

C. Observations-Hypothesis-Deduction-Experimentation

D. Law-Theory-Deduction-Observations

What would be the best experimental design for testing a hypothesis that bean plants require sodium?

A Measure the amount of sodium in few bean piants

B. Look for sodium in leaf tissues

C. Analyze root contents for sodium

D. Grow bean plants with and without sodium
(V) In most plants, the food is transported in the form of;

A Glucose B Starch C. Froteins D Sucrose
{vi) tn binomial nomenclature, the first letter of the name is capitalized.

A Genus B. Family C. Class D Species
(vii) When the last member of a particular species dies, the species is said to be:

A Established B. Threatened C. Endangered D Extinct
{(vii)  Which of these materials is nol a component of the plasma membrane?

A Phospholipids B. Glycoproteins C. DNA D Proteins
{ix) tn which stage of the cell cycle, the cell prepares to begin DNA replication?

A G1 B G2 C. S D M
(x) To what category of molecules do enzymes belong?

A. Proteins B. Carbohydrates C. Lipids D Nucleic acids
{xi) In which of the foilowing respiration steps, (). is produced?

A Kreb's cycle B. Electron transport chain

C. Glycolysis D. Calvin cycle
{xii) The wave like movement of muscle that pushes food through the digestive system is called:

A Chemical digestion B. Emulsification

C. Absorption D Feristalsis
For Examiner’s use only: Total Marke. ’T

Marks Obtained:

— 18A 1710 (ON) —



Roll No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:

- o oud ol (2l
(12/,‘1}) Jf'.b 220 2

e L b -‘LLﬂ‘i‘.‘aJlgfJ"Ldu[-»/.LK.E.@L)/Lliﬁ}f/(sh’:/(){):..‘.-'?(,)fél’:fu’f-Lu:llgd__.vd‘/L./c«!,iﬁr:.u’i_q_diﬂd'i‘.b oy
e AL 0y L rzrne T 1 Bl 1) F e 1 Iy

ur Sl x! .fu!‘u,?’g. la;u)-?..fv- .;AQ.:'R:'}H:/’_ S Q"-_,;
KR Sy T &
Cen/ e LS i e e A (ii)

- N I phy o
o S e S A ik i)

. - o "
i S - g . .
:—uf ‘ 71,5:) ; ‘;‘*;V‘u/:i? — S bl "%&“b"’r’ft/ i

s o F b SnE -2 20 AL TR e lalz -&
Id oo ey ; ui ) ‘ " ‘_E(‘ - L.
-Qn‘wgﬁul../.g:/'..._L(iln b;_,)’._«u#’g,f’w:’_):u,v) i (iv)

Lyt il e ey o Ludrsial i ol o
3{ o P‘Jf /5)’11! '( x-jy“);‘ug.'.:_k{.) 3 _io ﬂ"”ﬂﬁ” '/- ~VU~QJFJ._)J’ &

e tgg’w,ﬁw: NS ST RS (v)

o = Ry " Gk - g L
-.ngwvz:»:: kbt o ﬁfﬂ iJL (vi)

LB P - L"" sl

e -2 ok ~- g7 -— u -
e A STy ST L (i)

- - AL wE Flafs
‘o S ok A s i)

g - g L r’f. K —— el -

e - .

< ~/wh>u AP ol IS F u-——/u —u‘?b’uk (ix)

A AL 226 ¢ 218 L
e FSOEF

St L = i & ‘_f':u‘gu,M -— Ay A
‘e S}fly J«’L»-r"éi Sghs {J.”éi/r_,wtfig‘u (xi)

Koo o T S Y- AWV Y ) Kl L
(-'IC.‘JLL"K*LL," 5 "K’Jr’”f“u’.l L /;,(J’V (1)

TS ) S -& w"“" e - o?” Jé’: -

_4SA 1710 (ON) —~




Time allowed: 2:40 Hours

BIOLOGY SSC-l

3R

Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section
provided answer book. Use supplementary answer sheet i.e. Sheet—

neatty and legibly.

‘B’ and any two questions from Section ‘C’ on the separately
B if required. Write your answers

o
N

Note:

Q.3

Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines.

()

(xii)

(xiil)

(xiv)

(xv)

SECTION - B (Marks 33)

Define the following:
a. Physiology b. Genetics C. Taxonomy
Write the names and subjects of three books written by Abdul Malik Asmai, in the field of biology.
Differentiate between gqualitative and quantitative observations with the help of examples.
Write the names and area of occurrence of three endangered species of animals in Pakistan.
Write the important postulates of cell theory in its modern form.

Define the following:

a Diffusion b. Facilitated diffusion C Osmosis

Write three features of mitosis for its significance.

What is lock and key mode! of enzyme action?

What is the structural formula of ATP?

What is enzyme specificity? Give three different examples.

What is the role of chlorophyl! and light in photosynthesis? Write briefly.

What is Alcoholic fermentation? Briefly explain with the help of equation.

Define the following phases of nutrition:

a. Absorption b. Assimilation C. Defecation

Explain briefly the reasons for the creation of transpiration pull in plants.

Differentiate between Atherosclerosis and Arteriosclerosis. Write their causes

SECTION — C (Marks 20)

Attempt any TWO questions. Alt questions carry equal marks. (2x10=

(11 x 3 = 33)

20)

Explain the structure and function of mitochondria and plastids with the help of labeled diagrams. {05)

Explain the structure and function of small intestine with the help of labeled diagram.
Write a detailed note on impacts of human beings on biodiversity.
Describe the role of enzymes in different industries.

Explain the significance of meiosis in detail.
How are Glycolysis, Kreb's cycle and Electron transport chain involved in the mechanism of

cellular respiration? Explain.
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